MURDER AT THE MOVIES - EPISODE 3
Q_ HINT FILES

*One Puzzle Per Page
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GROUPINGS OF NUMBERS AND LETTERS (8-4-3...

1.The key to decode this can be found in materials from an earlier episode.

2.You should find numbers above letters on multiple documents.

3.0nce you know what letter options are available for each number, look and
see what combinations form words.

4.0nce you have decoded the message, you will need to reference documents
from an earlier episode to know which suspect is being referenced.




FOUR ROWS OF LETTERS

1.Pay attention to the symbols at the beginning of each row. What word does
each symbol represent? Have you seen those words referenced somewhere
else?

2.Look at the Elementals promotional paper.

3.There are four words on the Elementals promotional paper that correspond fo
symbols on the four rows of letters paper. Put the row of letters in stacked
order according to the order on the Elementals promotional paper. This
should reveal a message for you.




CHILL WITH US

1.Notice that each of the top three popsicles have a sequence of letters on
them.

2.Notice the smaller popsicles in the middle of the flyer and what they are
doing.

3.What items do you have that could connect to this flyer?

4.The sequence of letters from the top three popsicles, have you seen those
sequences anywhere else?

5.Take a look at the grid of letters.

6. Using the popsicle sticks you have, arrange them on the grid of letters
covering up each sequence of letters.

7.For example, the first popsicle has the sequence of letters of M — X — M.
Using a popsicle stick, find the sequence of letters on the grid and lay the
popsicle stick over the entire sequence. Do this for the other sequences of
letters on the other popsicle sticks.

8.0nce all sequences of letters are covered, read the letters you have still
showing.




“ANSWER THIS...”

1.You are told fo solve the riddle and the answer to that will give you the key.
This clues you in to the fact that this is a keyword cipher.

2.1f you are having trouble solving the riddle, the answer is one of the four
elementals.

3.0nce you know the answer fo the riddle, fo create the key to the cipher you
need to write the answer on one line followed by the rest of the alphabet
(omitting any letters from the answer) on the same line. After doing this,
directly underneath this string of letters on a second line write the alphabet
completely a through z. You now have your key to decode the message.




FOUR COLUMNS OF NUMBERS WITH SYMBOLS

1.You will need something from an earlier episode to solve this.

2.There is a document that has pirate ships and rows of letters. Notice the
symbols on different pirate ships are the same as some of the symbols used
here.

3.Find the correct pirate ships and count down the number of letters in their
columns fo identify the correct letter.




SOLUTION

1.So0lving each puzzle will provide you with information on a person who is a
part of the pact and why they are.




